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Question Paper Code : 2005
B.Com. (Part-III) Examination, 2018

( Regular & Exempted )
APPLIED ECONOMICS

( Macro-Economics )
Time : Three Hours] [Maximum Marks : 100

Note : Answer five questions in all.  Question No.1 is
compulsory.  Attempt four more questions, selecting
one question from each unit.
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la- 1 vfuok;Z gSA izR;sd

bdkbZ ls ,d iz'u pqurs gq, pkj vU; iz'u dhft,A

1. Answer in brief of the following : [4x10=40]
fuEufyf[kr ds laf{kIr mÙkj fyf[k, %

(a) What is meant by withdrawls and injections in
circular flow of income in an economy ?
,d vFkZO;oLFkk ds vk; ds pØh; cgko esa fudklh ,oa

vUr{ksi.k ls D;k rkRi;Z gS \
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(b) From the following saving function

YS 25.080
Find the equilibrium level of income, and the value
of investment multiplier, if the level of autonomous
investment in an economy is Rs. 200 crores.
fuEufyf[kr cpr Qyu ds vk/kkj ij

YS 25.080
vk; dk larqyu Lrj ,oa fuos'k xq.kd Kkr dhft,]

tcfd vFkZO;oLFkk esa Lok;Ùk fuos'k dk Lrj 200 djksM+
#- gSA

(c) Show that the balanced budget multiplier is
always equal to one.
fn[kkb, fd larqfyr ctV xq.kd ges'kk ,d ds cjkcj

gksrk gSA

(d) Define accelerator theory of investment.
fuos'k ds Rojd fl)kUr dks le>kb,A

(e) What do you understand by the term 'money
illusion' ?
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(b) Equilibrium levels of output and interest.
mRiknu ,oa C;kt dk larqyu LrjA

UNIT-IV @ bdkbZ&IV
8. How does the interaction of multiplier and accelerator

explain cyclical fluctuations ? [15]
xq.kd ,oa Rojd dh ikjLifjd fØ;k pØh; vfLFkjrk dks fdl

izdkj n'kkZrs gSa \

9. What are the main causes of inflation in India ? What
government policies have been instrumental in checking
rise in prices ? [15]
Hkkjr esa eqnzkLQhfr ds D;k eq[; dkj.k gaS \ dkSu&lh ljdkjh

uhfr;k¡ ewY; o`f) dks jksdus esa lgk;d jgh gSa \
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^ekSfnzd Hkze* 'kCn ls vki D;k le>rs gSa \

(f) What is Dalton's measure of degree of
maladjustment in population ?
MkYVu ds tula[;k ds dqlek;kstu Js.kh dk eki D;k

gS \

(g) What is stagflation ?
Bgjko dh eqnzkLQhfr D;k gS \

(h) Is Keynesian macroeconomic approach relevant
for developing economies even today ?
D;k dsUl dh lef"V vFkZ'kkL= /kkj.kk vkt Hkh fodkl'khy

vFkZO;oLFkkvksa esa izklafxd gS \

(i) Show the derivation of IS curve.
IS oØ dh O;qRifÙk fn[kkb,A

(j) What are various phases of business cycles ?
O;kikj pØ ds fofHkUu pj.k D;k gSa \

UNIT-I @ bdkbZ&I
2. What are various macro-economic paradoxes ? Explain
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UNIT-III @ bdkbZ&III
6. In what respect do the classical and Keynesian theories

of employment differ ? Bring out the reasons for under-
employment equilibrium in the Keynesian model. [15]
jkstxkj dh izfrf"Br ,oa dsUl ds fl)kUr fdl izdkj ls fHkUu

gSa \ dsUl ekWMy esa vYi&jkstxkj ds dkj.kksa dks crkb,A

7. From  the following information regarding a closed
economy : [15]
,d cUn vFkZO;oLFkk dh fuEu tkudkjh ds vk/kkj ij %

C = 100 + 0.8 Y
I = 50 - 25 i
G = T= 50
Ms = 200
Md = Y - 25 i
Calculate :
x.kuk dhft, %

(a) IS and LM curves
IS vkSj LM oØ
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any two of these. How do these paradoxes limit the
applicability of microeconomic theories to explain the
behaviour of economy as a whole ? [15]
lef"V vFkZ'kkL= ds fofHkUu fojks/kkHkkl D;k gaS \ buesa ls fdUgha

nks ds ckjs esa le>kb,A ;g fojks/kkHkkl fdl izdkj iwjh vFkZO;oLFkk

ds O;ogkj dks le>kus ds fy, O;f"V vFkZ'kkL= ds fl)kUrksa dh

lhfer iz;ksT;rk fn[kkrs gSa \

3. Differentiate between real and nominal GDP. How can
personal income and disposable income be calculated
from national income ? Explain with the help of an
example. [15]
okLrfod ,oa lkadsfrd ldy ?kjsyw mRikn (GDP) esa Hksn
dhft,A jk"Vªh; vk; esa ls O;fäxr vk; ,oa iz;ksT; vk; dh

x.kuk dSls gksrh gS \ ,d mnkgj.k }kjk le>kb,A

UNIT-II @ bdkbZ&II

4. Make a comparative analysis of absolute income and
permanent income theorem of consumption. [15]

okLrfod vk; ,oa LFkk;h vk; fl)kUrksa dh rqyukRed leh{kk

dhft,A
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5. From the following functions for an economy :[5x3 = 15]

,d vFkZO;oLFkk ds fuEu Qyuksa ds vk/kkj ij %

C = 100 + 0.8 Y

I  = 100

G  = 100

T  = 100

Find out :

vkidks Kkr djuk gS %

(a) equilibrium level of income

vk; dk larqyu Lrj

(b) tax multiplier and balanced budget multiplier.

dj xq.kd ,oa larqfyr ctV xq.kd

(c) equilibrium level of income if tYTT  being
equal to 100 + 0.25 Y

vk; dk larqyu Lrj vxj tYTT   cjkcj gS 100
+ 0.25 Y dsA
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